T. LEDWINA

228

icm®

[6] E. L. Lehmann, On families of admissible tests, Ann. Math. Statist. 18 (1947), pp. 97-104.

- [7] T. K. Matthes, D. R. Truax, Tests of composite hypotheses for multivariate exponential family, ibid. 38 (1967), pp. 681-697.
- [8] C. R. Rao, Linear statistical inference and its applications, J. Wiley and Sons, 1965.
- [9] R. Schwartz, Admissible tests in multivariate analysis of variance, Ann. Math. Statist. 38 (1967), pp. 698-710.
- [10] C. Stein, The admissibility of Hotelling's T²-test, ibid. 27 (1956), pp. 616-623.

Presented to the semester MATHEMATICAL STATISTICS September 15-December 18, 1976 MATHEMATICAL STATISTICS
BANACH CENTER PUBLICATIONS, VOLUME 6
PWN—POLISH SCIENTIFIC PUBLISHERS
WARSAW 1980

ON THE ASYMPTOTIC DISTRIBUTIONS OF CERTAIN FUNCTIONS OF EIGENVALUES OF CORRELATION MATRICES*

JACK C. LEE

Wright State University, U.S.A.

and

P. R. KRISHNAIAH

University of Pittsburgh, Pittsburgh, Pa., U.S.A.

1. Introduction

In this paper, the authors obtained asymptotic expressions for the joint densities of the linear combinations of the roots as well as the joint densities of the ratios of the linear combinations of the roots of the correlation matrices when the distributions underlying the data are multivariate normal or complex multivariate normal. These expressions are in terms of linear combinations of multivariate normal densities and multivariate Hermite polynomials. The authors have earlier obtained analogous results for the joint densities of the linear combinations and ratios of the linear combinations of the roots of the sample covariance matrices. The results obtained in this paper are useful in the application of simultaneous test procedures for the inference on eigenvalues of the correlation matrices of real and complex multivariate normal populations.

2. Joint distribution of linear combinations of the roots of correlation matrix in the real case

Let the columns of X: $p \times m$ be distributed independently and identically as multivariate normal with zero mean vector and covariance matrix $\Sigma = (\sigma_{gh})$ and $S = (s_{gh}) = XX'$. Then S has the central real Wishart distribution $W_g(\Sigma, m)$.

Let $\Omega=(\varrho_{jh})$, where $\varrho_{jh}=\sigma_{jh}/(\sigma_{jj}\,\sigma_{hh})^{1/2}$. Since Ω is symmetric, there exists an orthogonal matrix $U=(u_{jh})$ such that

$$(2.1) U'\Omega U = \Lambda,$$

^{*} Part of this work was sponsored by the Air Force Flight Dynamics Laboratory, Air Force Systems Command, under grant AFOSR 77-3239.

where Λ is a diagonal matrix with elements $\lambda_1 \ge ... \ge \lambda_p$. The sample correlation matrix $R = (r_{ib})$, where

$$r_{ih} = s_{jh}/(s_{jj}s_{hh})^{1/2},$$

can be expressed as

$$(2.2) R = S_0^{-1/2} S S_0^{-1/2}$$

and

$$S_0 = \text{diag}(s_{11}, ..., s_{pp}).$$

In the sequel, we use the notation $A_0 = \operatorname{diag}(a_{11}, \ldots, a_{pp})$ if $A = (a_{jh})$. Let

(2.3)
$$\frac{1}{m} \Sigma_0^{-1/2} S \Sigma_0^{-1/2} = \Omega + \frac{1}{1/m} Y, \text{ where } Y = (Y_{Jh}).$$

From (2.1), (2.2) and (2.3) it can be shown that

(2.4)
$$U'RU = A + \frac{1}{1/m}Y^{(1)} + \frac{1}{m}Y^{(2)} + \text{ higher order terms},$$

where

(2.5)
$$Y^{(1)} = U'(Y - \frac{1}{2}Y_0\Omega - \frac{1}{2}\Omega Y_0)U,$$

$$Y^{(2)} = \frac{1}{2}U'(2Y_0\Omega Y_0 - 4YY_0 - 4Y_0Y + 3Y_0^2\Omega + 3\Omega Y_0^2)U.$$

If the characteristic roots λ_I of Ω are distinct, then the perturbation expansion (see e.g. Wilkinson [6], pp. 69-70) of the hth largest eigenvalue l_h of R is

(2.6)
$$l_h = \lambda_h + \frac{1}{\sqrt{m}} Y_{hh}^{(1)} + \frac{1}{m} \left(Y_{hh}^{(2)} + \sum_{n=1}^{p} \lambda_{ha}^{-1} Y_{ha}^{(1)2} \right) + \text{higher order terms},$$

where

$$Y^{(j)} = (Y_{ab}^{(j)}), \quad \lambda_{ab} = \lambda_a - \lambda_b,$$

$$(2.7) Y_{ab}^{(1)} = \sum_{j=1}^{p} \sum_{h=1}^{p} u_{ja} u_{hb} Y_{hj} - \frac{1}{2} (\lambda_a + \lambda_b) \sum_{h=1}^{p} u_{ha} u_{hb} Y_{hh},$$

$$Y_{aa}^{(2)} = \frac{1}{4} \sum_{h=1}^{p} \sum_{h=1}^{p} \varrho_{hj} u_{ja} u_{ha} Y_{jj} Y_{hh} - \sum_{h=1}^{p} \sum_{h=1}^{p} u_{ja} u_{ha} Y_{hj} Y_{hh} + \frac{3}{4} \lambda_a \sum_{h=1}^{p} u_{ha}^2 Y_{hh}^2.$$

Let $L' = (L_1, ..., L_q)$, where

(2.8)
$$L_{g} = \sqrt{m} \left\{ \sum_{j=1}^{p} c_{gj} l_{j} - \sum_{j=1}^{p} c_{gj} \lambda_{j} \right\}$$

for g = 1, ..., q. Using (2.6) in (2.8) we obtain, in fashion similar to (3.10) of Krishnaiah and Lee [3], the following asymptotic expression for the characteristic function of $L_1, ..., L_q$:

(2.9)
$$\varphi_{1}(t_{1},...,t_{q}) = \exp\left[-\frac{1}{2}t'Q_{1}t\right] \times \left\{1 + \frac{1}{\sqrt{m}}\left[\sum_{g=1}^{q} (J_{11} + J_{13})(it_{g}) + \sum_{g_{1},g_{2},g_{3}}^{q} (J_{10} + J_{12} + J_{14})(i^{3}t_{g_{1}}t_{g_{3}}t_{g_{3}})\right] + O(m^{-1})\right\},$$

where

$$Q_{gl}^{(1)} = Q_{gl}^{(1)},$$

$$Q_{gl}^{(1)} = 2 \sum_{a,b,h,j}^{p} W_{g,ha} W_{l,jb} \varrho_{aj} \varrho_{gh},$$

$$J_{10} = \frac{4}{3} \sum_{a,b,d,h,j,l}^{p} W_{g_{1},ha} W_{g_{2},jb} W_{g_{3},ld} \varrho_{aj} \varrho_{bl} \varrho_{dh},$$

$$J_{11} = \frac{1}{2} \sum_{h,j,l}^{p} c_{gj} u_{hj} [\varrho_{hl} u_{lj} (\varrho_{hl}^{2} - 4) + 3\lambda_{j} \delta_{hl} u_{hj}],$$

$$J_{12} = \sum_{a,b,c,d,h,j,l}^{p} c_{g_{1}j} W_{g_{2},ba} W_{g_{3},dc} \varrho_{hc} \varrho_{hd} u_{hj} \times \left[\varrho_{hl} \varrho_{la} \varrho_{lb} u_{lj} - 4\varrho_{hb} \varrho_{la} u_{lj} + 3\delta_{hl} \lambda_{j} \varrho_{ha} \varrho_{hb} u_{hj}],$$

$$J_{13} = \frac{1}{2} \sum_{h,j,l}^{p} \sum_{a\neq j}^{p} u_{ha} u_{la} \lambda_{ja}^{-1} c_{gj} \times \left[2 \sum_{p,k}^{p} u_{sj} u_{kj} (\varrho_{hl} \varrho_{sk} + \varrho_{hk} \varrho_{sl} + (\lambda_{j} + \lambda_{a})^{2} u_{hj} u_{lj} \varrho_{hl}^{2} - 4(\lambda_{j} + \lambda_{a}) \sum_{s=1}^{p} u_{sj} u_{lj} \varrho_{hl} \varrho_{sl}\right],$$

$$J_{14} = \sum_{b,c,d,h,j,k,l}^{p} \sum_{a\neq j}^{p} u_{ha} u_{la} \lambda_{ja}^{-1} c_{g_{1}j} W_{g_{2},cb} W_{g_{3},kd} \varrho_{hc} \varrho_{lk} \times \left[4 \sum_{f}^{p} u_{sj} u_{fj} \varrho_{fd} \varrho_{sb} + (\lambda_{j} + \lambda_{a})^{2} u_{hj} u_{lj} \varrho_{ld} \varrho_{hb} - 4(\lambda_{j} + \lambda_{l}) \sum_{s=1}^{p} u_{sj} u_{lj} \varrho_{ld} \varrho_{sb}\right],$$

$$W_{g,ha} = \sum_{f}^{p} c_{gj} u_{aj} u_{hj} (1 - \delta_{ha} \lambda_{j}), \quad \delta_{ha} = \begin{cases} 1 & \text{if } h = a, \\ 0 & \text{if } h \neq a. \end{cases}$$

Inverting (2.9) we obtain the following asymptotic expression for the joint density of L_1, \ldots, L_n :

$$(2.10) f_1(L_1, ..., L_q) = N(L; Q_1) \left\{ 1 + \frac{1}{\sqrt{m}} \left[\sum_{p=1}^q (J_{11} + J_{13}) H_g(L) + \sum_{g_1, g_2, g_3}^q (J_{10} + J_{12} + J_{14}) H_{g_1, g_2, g_3}(L) \right] + O(m^{-1}) \right\},$$

where $L' = (L_1, ..., L_q)$, $N(L; \Sigma)$ stands for the multivariate normal with zero mean vector and covariance matrix Σ , $H_{g_1, ..., g_s}(L)$ is the multivariate Hermite polynomials defined by

$$(2.11) H_{g_1,\ldots,g_s}(x) = \frac{(-1)^s \partial^s}{N(x;\Sigma) \partial x_{j_s} \ldots \partial x_{j_s}} N(x;\Sigma),$$

for s integers $g_1, ..., g_s$ such that $1 \le g_j \le p$ and $x' = (x_1, ..., x_p)$.

3. Joint distribution of the ratios of linear combinations of the roots of the correlation matrix in the real case

In this section we give an asymptotic expression for the joint density of the ratios of linear combinations of the roots of the real correlation matrix when the population roots are distinct.

(3.1)
$$T_{g} = \sqrt{m} \left[\sum_{j=1}^{p} c_{gj} l_{j} \left(\sum_{j=1}^{p} d_{gj} l_{j} \right)^{-1} - \sum_{j=1}^{p} c_{gj} \lambda_{j} \left(\sum_{j=1}^{p} d_{gj} \lambda_{j} \right)^{-1} \right]$$
for $g = 1, ..., q$.

Using (2.6) in (3.1) we obtain the following asymptotic expression for the joint characteristic function of $T' = (T_1, ..., T_d)$:

(3.2)
$$\varphi_{2}(t) = \exp\left[-\frac{1}{2}t'Q_{2}t\right] \times \left\{1 + \frac{1}{\sqrt{m}} \left[\sum_{g=1}^{q} (J_{21} + J_{23} + J_{25} + J_{27} + J_{29})(it_{g}) + \right. \right. \\ \left. + \sum_{g=1}^{q} (J_{20} + J_{22} + J_{24} + J_{26} + J_{28} + J_{210})(i^{3}t_{g_{1}}t_{g_{2}}t_{g_{3}})\right] + O(m^{-1})\right\},$$

where

$$(3.3) \ Q_{2} = (Q_{gl}^{(2)}),$$

$$Q_{gl}^{(2)} = 2 \sum_{a,b,h,j}^{p} Z_{g,ha} Z_{l,jb} \varrho_{aj} \varrho_{bh},$$

$$Z_{g,ha} = \sum_{j=1}^{p} \Lambda_{g} (c_{gj} - \tilde{\lambda}_{g} \Lambda_{g} d_{gj}) u_{aj} u_{hj} (1 - \delta_{ah} \lambda_{j}),$$

$$\Lambda_{g}^{-1} = \sum_{j=1}^{p} d_{gj} \lambda_{j},$$

$$\begin{split} \tilde{\lambda}_g &= \sum_{j=1}^p c_{gj} \lambda_j, \\ J_{25} &= \sum_{j=1}^p \Lambda_g^2 (\tilde{\lambda}_g \Lambda_g d_{gj} - c_{gj}) d_{gl} u_{aj} u_{bj} u_{cl} u_{dl} (\varrho_{bd} \varrho_{ac} + \varrho_{bc} \varrho_{ad}), \end{split}$$

$$J_{26} = 4 \sum_{a,b,c,d,f,h,b,l,r,s}^{p} \Lambda_{g_1}^2 (\tilde{\lambda}_{g_1} \Lambda_{g_1} d_{g_1j} - c_{g_1j}) d_{g_1l} u_{aj} u_{bj} u_{cl} u_{dl} Z_{g_2,sr} Z_{g_3,bf} \varrho_{bs} \varrho_{ar} \varrho_{dh} \varrho_{cf},$$

$$J_{27} = 2 \sum_{b,d,i,l}^{p} A_g^2(\tilde{\lambda}_g A_g d_{gj} - c_{gj}) d_{gl} \lambda_j \lambda_l u_{bj}^2 u_{dl}^2 \varrho_{bd},$$



$$\begin{split} J_{28} &= 4 \sum_{b,d,f,h,j,l,r,s}^{p} A_{g_{1}}^{2} (\tilde{\lambda}_{g_{1}} \Lambda_{g_{1}} d_{g_{1}j} - c_{g_{1}j}) d_{g_{1}l} \lambda_{j} \lambda_{l} u_{b}^{2} u_{bj}^{2} Z_{g_{2,sr}} Z_{g_{3,hf}} \varrho_{bs} \varrho_{br} \varrho_{dh} \varrho_{df}, \\ J_{29} &= - \sum_{b,c,d,j,l}^{p} \Lambda_{g}^{2} (\tilde{\lambda}_{g} \Lambda_{g} d_{gj} - c_{gj}) d_{gl} (\lambda_{j} u_{bj}^{2} u_{cl} u_{dl} + \lambda_{l} u_{bl}^{2} u_{cj} u_{dj}), \\ J_{210} &= - 4 \sum_{b,c,d,f,h,j,l,r,s}^{p} \Lambda_{g_{1}}^{2} (\tilde{\lambda}_{g_{1}} \Lambda_{g_{1}} d_{g_{1}j} - c_{g_{1}j}) d_{g_{1}l} \times \\ & \times (\lambda_{l} u_{bj}^{2} u_{cl} u_{dl} + \lambda_{l} u_{bl}^{2} u_{cj} u_{dj}) Z_{g_{1},sr} Z_{g_{2},hf} \varrho_{bs} \varrho_{br} \varrho_{dh} \varrho_{df}, \end{split}$$

and for $i = 0, 1, 2, 3, 4, J_{2i}$ are exactly in the same forms as those of J_{1i} except $W_{a,ha}$ replaced by $Z_{a,ha}$, c_{aj} replaced by $\Lambda_a(c_{aj} - \tilde{\lambda}_a \Lambda_a d_{aj})$.

Inverting (3.2) we obtain the following expression for the joint density of $T_1, ..., T_q$:

(3.4)
$$f_{2}(T_{1}, ..., T_{q}) = N(T; Q_{2}) \times$$

$$\times \left\{ 1 + \frac{1}{\sqrt{m}} \left[\sum_{g=1}^{q} (J_{21} + J_{23} + J_{25} + J_{27} + J_{29}) H_{g}(T) + \right. \right.$$

$$+ \left. \sum_{g=1}^{q} (J_{20} + J_{22} + J_{24} + J_{26} + J_{28} + J_{210}) H_{g_{1}, g_{2}, g_{3}}(T) \right] + O(m^{-1}) \right\}.$$

4. Asymptotic distributions in the complex case

Let $Z = Z_1 + iZ_2$ be a $p \times m$ matrix and let the rows of $(Z_1': Z_2')$ be distributed independently as a multivariate normal with zero mean vector and covariance matrix

$$\begin{bmatrix} \Sigma_1 & \Sigma_2 \\ -\Sigma_2 & \Sigma_1 \end{bmatrix},$$

where Σ_1 and Σ_2 are of order $p \times p$. Then, the columns of Z are distributed independently as complex multivariate normal (in the sense of Wooding [7]) with covariance matrix $\tilde{\Sigma} = 2(\Sigma_1 + i\Sigma_2) = (\hat{\sigma}_{ab})$. Also, the distribution of $\tilde{S} = Z\bar{Z}$ $=(\tilde{W}_{ab}), \tilde{W}_{ab}=W_{ab}+iV_{ab}$, is known to be a central complex Wishart distribution. In this paper we denote by \overline{Z} and Z^* the complex conjugate and the transpose of the complex conjugate of Z, respectively.

Let $\tilde{\Omega}=(\hat{\varrho}_{ab})$, where $\hat{\varrho}_{ab}=\frac{\tilde{\sigma}_{ab}}{(\hat{\sigma}_{aa}\tilde{\sigma}_{bb})^{1/2}}$. Since $\tilde{\Omega}$ is Hermitian positive definite, there exists a unitary matrix $\tilde{U} = (\hat{u}_{ab})$ such that

$$\tilde{U}^* \, \Omega \tilde{U} = \tilde{\Lambda},$$

where $\tilde{\Lambda}$ is a diagonal matrix with elements $\delta_1 \geqslant \delta_2 \geqslant ... \geqslant \delta_p$. The sample correlation matrix $\tilde{R} = (\hat{r}_{ab})$, where

$$\tilde{Y}_{ab} = \frac{\tilde{W}_{ab}}{(W_{aa}W_{bb})^{1/2}}$$

can be expressed as

(4.2)
$$\tilde{R} = \tilde{S}_0^{-1/2} \tilde{S} \tilde{S}_0^{-1/2}.$$

Similarly to (2.3) we let

(4.3)
$$\frac{1}{m}\tilde{\Sigma}_0^{-1/2}\tilde{S}\tilde{\Sigma}_0^{-1/2} = \tilde{\Omega} + \frac{1}{\sqrt{m}}\tilde{Y}$$

where $\tilde{Y} = (\tilde{Y}_{ab})$.

From (4.1)-(4.3) we have the following expression for $\tilde{U}^* \tilde{R} \tilde{U}$:

(4.4)
$$\tilde{U} * \tilde{R}\tilde{U} = \tilde{\Lambda} + \frac{1}{\sqrt{m}} \tilde{Y}^{(1)} + \frac{1}{m} \tilde{Y}^{(2)} + \text{higher order terms},$$

where

$$(4.5) \qquad \tilde{Y}^{(1)} = \tilde{U}^* \tilde{Y} \tilde{U} - \frac{1}{2} \tilde{U}^* \tilde{Y}_0 \tilde{U} \tilde{A} - \frac{1}{2} \tilde{A} U^* \tilde{Y}_0 \tilde{U},$$

$$\tilde{Y}^{(2)} = \frac{1}{8} (2 \tilde{U}^* \tilde{Y}_0 \tilde{\Omega} \tilde{Y}_0 \tilde{U} - 4 \tilde{U}^* \tilde{Y} \tilde{Y}_0 \tilde{U} - 4 \tilde{U}^* \tilde{Y}_0 \tilde{Y} \tilde{U} +$$

$$+ 3 \tilde{U}^* \tilde{Y}_0^2 \tilde{U} \tilde{A} + 3 \tilde{A} \tilde{U}^* \tilde{Y}_0^2 \tilde{U}).$$

When the eigenvalues δ_i of $\tilde{\Omega}$ are distinct, the perturbation expansion of the hth largest eigenvalue θ_h of \tilde{R} is

(4.6)
$$\theta_h = \delta_h + \frac{1}{\sqrt{m}} \tilde{Y}_{hh}^{(1)} + \frac{1}{m} \left(\tilde{Y}_{hh}^{(2)} + \sum_{a \neq h}^{p} \tilde{\lambda}_{ha}^{-1} \tilde{Y}_{ha}^{(1)} \tilde{Y}_{ha}^{(1)} * \right),$$

where $\tilde{\lambda}_{ha} = \delta_h - \delta_a$, $\tilde{Y}^{(j)} = (Y_{c1}^{(j)})$.

In this section we give asymptotic expressions for the joint density of \tilde{L} $=(\tilde{L}_1,\ldots,\tilde{L}_q)$ as well as the joint density of $\tilde{T}=(\tilde{T}_1,\ldots,\tilde{T}_q)$, where

(4.7)
$$\tilde{L}_g = \sqrt{m} \sum_{i=1}^p c_{gi}(m^{-1}\theta_i - \delta_i),$$

$$(4.8) \tilde{T}_g = \sqrt{m} \left[\left(\sum_{j=1}^p c_{gj} \theta_j \right) \left(\sum_{h=1}^p d_{gh} \theta_h \right)^{-1} - \left(\sum_{l=1}^p c_{gj} \delta_j \right) \left(\sum_{h=1}^p d_{gh} \delta_h \right)^{-1} \right],$$

where $\theta_1 \ge ... \ge \theta_p$ are the roots of \tilde{R} .

We obtain the following expression for the joint densities of $\tilde{L}_1, \ldots, \tilde{L}_q$ and $\tilde{T}_1, \ldots, \tilde{T}_n$ as in the real case:

$$(4.9) \quad f_3(\tilde{L}_1,\ldots,\tilde{L}_q) = N(\tilde{L};Q_3) \times$$

$$\times \left\{ 1 + \frac{1}{\sqrt{m}} \left[\sum_{g=1}^{q} (J_{31} + J_{33}) H_{\theta}(\tilde{L}) + \right. \right.$$

$$\left. + \sum_{g_1, g_2, g_3}^{q} (J_{30} + J_{32} + J_{34}) H_{g_1, g_2, g_3}(\tilde{L}) \right] + O(m^{-1}) \right\}$$

$$\begin{split} (4.10) \quad & f_4(\tilde{T}_1, \ldots, \tilde{T}_q) = N(\tilde{T}; Q_4) \times \\ & \times \bigg\{ 1 + \frac{1}{\sqrt{m}} \left[\sum_{g=1}^q (J_{41} + J_{43} + J_{45} + J_{47} + J_{49}) H_g(\tilde{T}) + \right. \\ & + \left. \sum_{g_1, g_2, g_3}^q (J_{40} + J_{42} + J_{44} + J_{46} + J_{48} + J_{410}) + H_{g_1, g_2, g_3}(\tilde{T}) \right] + O(m^{-1}) \bigg\}, \end{split}$$

$$\begin{split} &+\sum_{g_{1},g_{2},g_{3}}^{q}(J_{40}+J_{42}+J_{44}+J_{46}+J_{48}+J_{410})+H_{g_{1},g_{2},g_{3}}(\tilde{T})\\ &+\sum_{g_{1},g_{2},g_{3}}^{q}(J_{40}+J_{42}+J_{44}+J_{46}+J_{48}+J_{410})+H_{g_{1},g_{2},g_{3}}(\tilde{T})\\ &\text{where}\\ &(4.11)Q_{3}=(Q_{gl}^{(3)})\\ &Q_{gl}^{(3)}=\sum_{a,b,j,h}\tilde{W}_{g,ha}\tilde{W}_{l,jb}\hat{\varrho}_{aj}\hat{\varrho}_{bh},\\ &Q_{4}=(Q_{gl}^{(4)}),\\ &Q_{gl}^{(4)}=\sum_{a,b,j,h}\tilde{Z}_{g,ha}\tilde{Z}_{l,jb}\hat{\varrho}_{aj}\hat{\varrho}_{bh},\\ &\tilde{W}_{g,ha}=\sum_{j=1}^{p}c_{gj}\tilde{u}_{aj}^{*}\hat{u}_{jh}(1-\delta_{ah}\delta_{j}),\\ &\tilde{Z}_{g,ha}=\sum_{j=1}^{p}\tilde{A}_{g}(c_{gj}-\lambda_{g}^{*}\tilde{A}\,d_{gj})\tilde{u}_{aj}^{*}\tilde{u}_{hj}(1-\delta_{ah}\delta_{j}),\\ &\lambda_{g}^{*}=\sum_{j=1}^{p}C_{gj}\delta_{j},\\ &\lambda_{g}^{*}=\sum_{j=1}^{p}c_{gj}\delta_{j},\\ &\tilde{A}_{g}^{-1}=\sum_{j=1}^{p}d_{gj}\delta_{j},\\ &J_{30}=\frac{1}{3}\sum_{a,b,d,h,j,l}\tilde{W}_{g_{1},ha}\tilde{W}_{g_{2},jb}\tilde{W}_{g_{3},la}\tilde{\varrho}_{aj}\tilde{\varrho}_{bl}\varrho_{dh},\\ &J_{31}=\frac{1}{2}\sum_{j,h,l}^{p}c_{gj}[\tilde{\varrho}_{hl}\tilde{\varrho}_{lh}^{*}\tilde{\varrho}_{lh}\tilde{\varrho}_{lh}^{*}\tilde{\mu}_{lj}\tilde{\mu}_{hj}^{*}-\tilde{\varrho}_{hl}\tilde{\mu}_{hj}^{*}\tilde{\mu}_{lj}-\tilde{\varrho}_{lh}\tilde{\varrho}_{hj}\tilde{\mu}_{lj}^{*}+\delta_{j}\delta_{lh}\tilde{\mu}_{hj}^{*}\tilde{\mu}_{hj}],\\ &J_{32}=\frac{1}{4}\sum_{a,b,c,d,h}^{p}c_{g_{1}}\tilde{W}_{g_{2},ba}\tilde{W}_{g_{3},dc}\tilde{\varrho}_{hc}\tilde{\varrho}_{hd}\tilde{U}_{hj}\times\\ \end{split}$$

$$J_{32} = rac{1}{4} \sum_{a,b,c,d,h,l,l}^{p} c_{g_1j} ilde{W}_{g_2,\,ba} ilde{W}_{g_3,\,dc} ilde{arrho}_{hc} ilde{arrho}_{hd} ilde{U}_{hj} imes$$

$$\times [\tilde{\varrho}_{hl}\tilde{\varrho}_{la}\tilde{u}_{lb}\tilde{\varrho}_{lj} - 2\tilde{\varrho}_{hb}\tilde{\varrho}_{la}\tilde{u}_{lj} + 3\delta_{lh}\delta_{j}\tilde{\varrho}_{ha}\tilde{\varrho}_{hb}\tilde{u}_{hj}],$$

$$\begin{split} J_{33} &= \frac{1}{4} \sum_{h,l,l}^{p} \sum_{a \neq l} c_{aj} \, \tilde{\lambda}_{la}^{-1} \Big[4 \sum_{s,f}^{p} \tilde{\varrho}_{ls} \, \tilde{\varrho}_{hf} \, \tilde{u}_{li}^{*} \, \tilde{u}_{ha} \, \tilde{u}_{sj} \, \tilde{u}_{fa}^{*} - \\ &- 2 (\delta_{j} + \delta_{a}) \sum_{s=1}^{p} \left(\tilde{\varrho}_{sl} \varrho_{hl} \, \tilde{u}_{lj} \, \tilde{u}_{ha}^{*} \, \tilde{u}_{sj}^{*} \, \tilde{u}_{sa} + \tilde{\varrho}_{sh} \tilde{\varrho}_{ls} \, \tilde{u}_{lj}^{*} \, \tilde{u}_{ha} \, \tilde{u}_{sj} \, \tilde{u}_{sa}^{*} + \\ &+ (\delta_{j} + \delta_{a})^{2} \tilde{\varrho}_{hl} \, \tilde{\varrho}_{lh} \, \tilde{u}_{lj}^{*} \, \tilde{u}_{la} \, \tilde{u}_{hj} \, \tilde{u}_{ha} \Big], \end{split}$$



$$\begin{split} J_{34} &= \tfrac{1}{2} \sum_{b,c,d,h,j,k,l}^p \sum_{a\neq j} c_{g_1 j} \tilde{\lambda}_{ja} \tilde{W}_{g_2,\,cb} \tilde{W}_{g_3,\,kd} \Big[2 \sum_{s,f}^p \hat{\varrho}_{lc} \tilde{\varrho}_{hb} \tilde{\varrho}_{fk} \tilde{\varrho}_{sd} \tilde{u}_{lj}^* \tilde{u}_{ha} \tilde{u}_{sj} \tilde{u}_{fa}^* - \\ &- (\delta_j + \delta_a) \sum_{s=1}^p \left(\tilde{u}_{lj}^* \tilde{u}_{ha} \tilde{u}_{sj} \tilde{u}_{sa}^* + \hat{u}_{lj} \tilde{u}_{ha}^{*l} \tilde{u}_{sj}^* \tilde{u}_{sa}^* \right) \tilde{\varrho}_{hk} \tilde{\varrho}_{sb} \tilde{\varrho}_{sc} \tilde{\varrho}_{ld} + \\ &+ 2 (\delta_j + \delta_a)^2 \tilde{u}_{lj}^* \tilde{u}_{la} \tilde{u}_{hj} \tilde{u}_{ha}^* \tilde{\varrho}_{hb} \tilde{\varrho}_{hc} \tilde{\varrho}_{ld} \tilde{\varrho}_{lk} \Big], \\ J_{45} &= \sum_{a,b,c,d,j,l}^p \tilde{A}_g^2 (\lambda_g^* \tilde{A}_g d_{gj} - c_{gj}) \, d_{gj} \tilde{\varrho}_{ad} \tilde{\varrho}_{cb} \tilde{u}_{aj}^* \tilde{u}_{bj} \tilde{u}_{cl} \tilde{u}_{dl}, \end{split}$$

$$J_{46} = \sum_{a,b,c,d,f,h,j,l,r,s,}^{p} \tilde{A}_{g_1}^2 (\lambda_{g_1}^* \tilde{A}_{g_1} d_{g_1j} - c_{g_1j}) d_{g_1j} \tilde{\varrho}_{af} \tilde{\varrho}_{bs} \tilde{\varrho}_{cr} \tilde{\varrho}_{dh} \tilde{u}_{aj}^* \tilde{u}_{bj} \tilde{u}_{cl} \tilde{u}_{dl} \tilde{Z}_{g_2,f_3} \tilde{Z}_{g_3,rh},$$

$$J_{47} = \sum_{b,d,j,l}^p \tilde{A}_g^2 (\lambda_g^* \tilde{A}_g d_{gj} - c_{gj}) d_{gj} \, \delta_j \, \delta_l \tilde{\varrho}_{bd} \tilde{\varrho}_{ba} \tilde{u}_{bj}^* \tilde{u}_{bj} \tilde{u}_{dl}^* \tilde{u}_{dl},$$

$$J_{48} = \sum_{b,d,\vec{f,h,j},l,r,s}^{p} \tilde{A}_{g_{1}}^{2}(\lambda_{g_{1}}^{*}\tilde{A}_{g_{1}}d_{g_{1}j} - c_{g_{1}j})d_{g_{1}}{}_{l}\tilde{\varrho}_{bd}\tilde{\varrho}_{db}\tilde{\varrho}_{bf}\tilde{\varrho}_{bs}\tilde{\varrho}_{dr}\tilde{\varrho}_{dh} \times$$

$$imes ilde{u}_{bj}^* ilde{u}_{bj} ilde{u}_{dl}^* ilde{u}_{dl} ilde{Z}_{g_2,f_s} ilde{Z}_{g_3,rh},$$

$$J_{49} = -\sum_{b,c,d,l,l}^{p} \tilde{A}_{g}^{2} (\lambda_{g}^{*} \tilde{A}_{g} d_{gj} - c_{gj}) d_{gl} (\delta_{j} \tilde{u}_{bj}^{*} u_{bj} \tilde{u}_{cl}^{*} u_{dl} + \delta_{l} \tilde{u}_{bl}^{*} \tilde{u}_{bl} u_{cj}^{*} u_{dj}) \tilde{\varrho}_{bc} \tilde{\varrho}_{db},$$

$$J_{410} = - \sum_{b,c,d,f,h,j,l,r,s}^{p} \tilde{A}_{g_{1}}^{2} (\lambda_{g_{1}}^{*} \tilde{A}_{g_{1}} d_{g_{1}j} - c_{g_{1}j}) d_{g_{1}l} \times$$

$$\times (\delta_j \tilde{u}_{bj}^* u_{bj} \tilde{u}_{cl}^* \tilde{u}_{dl} + \delta_l \tilde{u}_{bl} \tilde{u}_{cl}^* \tilde{u}_{dl}) \tilde{\varrho}_{bf} \tilde{\varrho}_{bs} \tilde{\varrho}_{dr} \tilde{\varrho}_{ch} \tilde{Z}_{a_{cl}} f_s \tilde{Z}_{a_{cl}} f_s$$

and J_{4j} are exactly in the same forms as those of J_{3j} , for j=0,1,2,3,4, except $\tilde{W}_{g,ha}$ replaced by $\tilde{Z}_{g,ha}$ and c_{gj} replaced by $\tilde{\Lambda}_g(c_{gj}-\lambda_g^*\tilde{\Lambda}_gd_{gj})$.

Note added in proof: Very recently, Konishi derived asymptotic distributions of the individua roots l_{α} as well as $\sum_{\alpha=1}^{q} l_{\alpha}$ where q < p and l_1, \ldots, l_p are the roots of the real sample correlation matrix, and the roots of the population correlation matrix are simple. Konishi also used the well-known perturbation method in deriving his results and his expressions involving linear combinations of the density of the normal distribution and the derivatives of this density.

References

- P. Appel and J. Kampe De Feriet, Functions Hypergéométriques et Hypersphériques, Gauthier-Villars, Paris 1926.
- [2] C. G. Khatri and S.K. Mitra, Some identities and approximations concerning positive and negative multinomial distributions, in: Multivariate Analysis, II, P. R. Krishnaiah ed., Academic Press Inc., New York 1969.
- [3] P.R. Krishnaiah and J.C. Lee, Inference on the eigenvalues of the covariance matrices

- of the real and complex multivariate normal populations, in: Multivariate Analysis, IV, P. R. Krishnaiah ed., North Holland. 1977.
- [4] D. N. Lawley, Tests of significance for the latent roots of covariance and correlation matrices, Biometrika 43 (1956), pp. 128-136.
- [5] C. R. Rao, The use and interpretation of principal component analysis in applied research, Sankhyā Ser. A. 26 (1956), pp. 329-358.
- [6] J. H. Wilkinson, The algebraic eigenvalue problem, Oxford University Press, London 1965.
- [7] R.A. Wooding, The multivariate distribution of complex normal variables, Biometrika 43 (1956), pp. 212-215.

Presented to the semester
MATHEMATICAL STATISTICS
September 15-December 18, 1976)